i mport math

i mport random

fromtextblob inport TextBlob
from col orana i nport Fore
from

getkey inport getkey, key
fromreplit inport audio
import tinme

name =
"Stranger”

open=][
"Good day mate! What's up?",
"Hi, how are you
t oday?'
"Yo what's up bro?"
"Hell o, how is everything

goi ng?'

]

bro=["bro', 'mate', 'ny friend,]
gadj =['epic', 'cool', 'cool', 'cute'
' sweet ']

bl ank=[" "', "I', "?"]

vowel s=['a', 'e', '"i', "0, "Uu']
good = ['n amazing',

great', 'n awesone'
fine']

good' ,

b=For e. BLUE
w=Fore. WH TE
r=For e. RED

| g=For e. LI GHTGREEN_EX

| r=Fore. LI GHTMAGENTA_ EX

print(lr +

"Loading...")

source = audio.play_tone(1l, 600, 1)
time. sl eep(3)

print(lr +

"\ nLoaded")

source = audi 0. play_tone(0.25, 1500,
1)

time.sleep(l)

print('\n")

whil e True:
print(b + random choi ce(open), (Ir + " (Type 'skip' to skip

greeting)") )
openans = Text Bl ob((input(w)).|ower())

if ("hi' in openans and
"nothing’ not in openans) or 'hello' in openans or 'hey' in openans:
conti nue
el se:
br eak

openansbl ob = openans. polarity

i f openans.lower() == 'skip'
solve = 'yes

pass

el se:

if ' and you' in openans or 'about you' in openans or 'you?' in openans or
you' in openans or 'hbu' in openans or 'wbu' in openans:
print(b + "Ch, | am having
+ random choi ce(good) + " day so far! Thank you for asking!\n\nSo, what's your

are

a



name?")
elif openansbl ob > O:
print(b+"\nThat's amazi ng",
random choi ce(bro), "\b! \nSo Wat's your nane?")
elif openansbl ob ==

print(b+"\nN ce, anyways.\nWat's your nane", random choi ce(bro), "\b?")

el se:

print(b+"\nCh, that's fine, don't worry, you'll feel much better soon since you
are chating with me heheeh, anyways.")

print("So what's your name ny
friend?")

nanme = (input(w)).Ilower()

if "ny name is in name or
"iI'm" in nane or "i am" in name:
nane = nane.replace('nmy nane is ',
")
name = nane.replace("i'm", '")
name = nane.replace("i am",
")
whil e True:
if "don't" in name or "no" in name or
"not" in nane:
print(b + "Ch, that's fine, I'"'msorry for any offense,
swear didn't nean that \UO001F622")
name = 'no'
br eak

i f
len(nanme.split()) > 1:
print(b + "\nWw, |'msorry but | amreally bad at
menori sing, your name is sooooo |ong \U0001F635. Just give me your first nane pl ease

name = input (w)
if len(name.split()) ==
br eak
i f
len(name.split()) < 1:
print(b + "Ch cone on, don't kill our chat ?")

print(b + "What's your first name?")
name = input (w)
i f
len(name.split()) ==
br eak
el se:
br eak

for x in blank:

if x in nane:
nane = namne.replace(x, '")

nane = namne.capitalize()
br o. append( nane)

br o=random choi ce( br o)

gadj =r andom choi ce(gadj)

if gadj[0] == "a' or
gadj[0] == "'e' or gadj[0] =="i" or gadj[0] =="0" or gadj[0] == "u":
gadj = 'n ' + gadj
el se:
gadj =" ' + gadj
if name.lower() == 'no'
pass
el se:

nane =



nane. capi talize()
print(b + 'Aww , nane, "That's such a"+gadj, "namne!
?*:.0(???)0.:*?")

print(b + "\ nAnyways, | amCici, a math problem
solving robot. \nDo you know why I'mcalled G ci?")
ans=i nput (w)

davi nci ="y
nane actually came fromthe last syllable of Da Vinci! \nThis is because the person who created
nme adnmires Da Vinci a lot as he is good at nearly everything. Therefore, she wishes | can be
simlar mnded to himas | was created to solve nath problens, so she naned me Gici. \nAnyways,
so do you have any nathenmatical questions for nme?"

if 'da vinci' in ans.lower():

print(b+f"Ch my god! \n\nYes you are right, n{davinci}")
elif ans.lower() ==
'yes':
print(b+"Ww, tell ne your thought!")
ans = input(w)

if 'da
vinci' in ans.lower():
print(b+f"Ch nmy god! \n\nYes you are right,
n{ davi nci}")
el se:

print (b+f"Haha, good guess! But nah, | knowit's hard
to guess. \n\nMdavinci}")
el se:
print(b+f"Haha, | know it's hard to guess.
\nM davinci }")
sol ve=i nput (w)

pl="1. Arithmetic & Geonetric Sequences - Findi ng nunbers,
Sunms and Terns in sequences

p2='2. Sinple calculations - Additions, Subtractions,
Mul ti plications, Divisions, Exponentials, Logarithmns...
p3="3. Conpl ex Number - Additions,

Subtractions, Miltiplications, Divisions...

p4="4. Ceonetry - Finding Areas, Vol unes,

Perineters, Surface Areas...'

p5='5. Trigononetry - Sin, Cos, Tan...'

p6="'6. Pythagoras -

Fi nding I engths of sides of right triangles'

probl entypes=[ pl, p2, p3, p4, pb5, pb]

whi | e
True:
sol ve=sol ve. | ower ()
if 'ye' in solve or '"yes' in solve or 'yea' in solve or 'yup'
in solve or 'sure' in solve
print(b+"\nThat's great! Sol ving nore questions hel ps ny
devel oper to inprove ne.")
print (b+"Wich type of question would you like ne to
solve for you? \nAs | amstill a devel oping program and ny devel oper is only in Year 10, | can
only solve the followi ng types of problens:")
for y in probl entypes:
print(lg
+y)
print(b+ \nPlease type down the nunber of choice you want to choose and we can start
sol ving your question!")
el se:
i f openansbl ob < O:

print(b+f"\nAlright then, it |ooks like you don't really need nme right now. \nl guess I|'lI
just leave for now and wish we can talk in the fulture. Al so, Hope you'll feel better, {nane}.
Cya~")

source = audio.play_file('bgm np3")

time. sl eep(9)

print(Fore.RED + "\nCici left the chat..."+w)



br eak
el se:

print(b+f"Alright then, I wish we can talk again in the future, {nane}. Cya~")
source = audio.play_file('bgm np3")

time.sleep(9)
print (Fore. RED +

“\nCici left the chat..." +w)
br eak
H#===—==—=—===—=—==—=—=—=—=—====== Probl em
Sol vi ngl |l ===============—========
gadj=['epic', 'cool', 'cool', 'cute', 'sweet']

gadj =r andom choi ce(gadj)
plty = ['1. Arithnetic Sequences', '2. Ceonetric Sequences']

plli = ['1. Finding the nth term(tn)"', '

"3. Finding the sumof the nth term (Sn)']
pl2 = ['1. Finding the nth term(tn)"', '2.

Finding the first termand comon ratio (a and d)', '3. Finding the sumof the nth term (Sn)',

"4, Finding the sumto infinity']

2. Finding the first termand difference (a and d)',

p2ty = ['"1l. Additions', '2. Subtractions', '3.
Multiplications', '4. Divisions', '5. Exponentials', '6. Logarithns', '7. Square Root', '8.
Root of x']

p3ty = ['1l. Additions', '2. Subtractions', '3. Miltiplications', '4.
Di vi sions' ]

paty = ['1l. Finding Area', '2. Finding Volune', '3. Finding Perineters &
Crcunferences', '4. Surface Areas']

p4l = ['1. Circles', '"2. Quadrilaterals', '3. Squares',
"4. Triangles']

p42 = ['1l. Spheres', '2. Rectangular Prisms', '3. Cubes', '4. Pyranmids', '5.
Triangul ar Pyramds', '6. Cylinders', '7. Cones']

p43 = ['1. Crcles', '2. Polygons']

p44
= ["1l. Spheres', '2. Rectangular Prisns', '3. Cubes', '4. Pyranmids', '5. Cylinders', '6.
Cones' ]

p5ty = ['1. Finding Angles', '2. Finding Side Lengths']
p5dr = ['1. Degrees',
'2. Radians']

p51 = ['1. Opposite & Hypotenuse Gven (Sin)', '2. Adjacent &
Hypot enuse G ven (Cos)', '3. Qpposite & Adjacent G ven (Tan)']
p52 = ['1. Finding
Opposite', '2. Finding Adjacent', '3. Finding Hypotenuse']

p6ty = ['1l. Finding The Length
of the Hypotenuse side', '2. Finding the Length of a side that is not hypotenuse']

numF
Fore. YELLOW + "\ u26A0" + Fore. RED+" Number Error: 1) Please just insert the
NUMBER of the type of question you want to solve. 2) Please just type the NUMBER required in
t he question.”

unit = "(Don't type the unit)"

comum = Fore. RED +
"Pl ease just insert the conplex nunber ONLY, make sure you typed in an actual COWLEX
NUMBER with the right format."

whi |l e True:

try:
ans=i nput (w)

ans=i nt (ans)
br eak
except:

print (num



if ans ==

print("\n\n")
print(lr + pl)
print(b+gadj.capitalize(), "\b! Let's
start fromArithmetic and Geonetric Sequences first then!")
print (b+ So whcih
sequence are we particularly |ooking at?')
for y in plty:
print(lg+y)

whil e True:
try:
pltylans=int (i nput(w))
if pltylans > 2 or
pltylans <= O:
print(r+"l'mafraid there's not such an option. Please check
the list and let's choose again!")
if pltylans <= 2 and pltylans > O:

br eak
el se:
br eak
except :

print (num

if pltylans ==

print(b+"And what are we findi ng?")
for x in pll:

print (1 g+x)
whil e True:
try:
pltylansl=i nt (i nput(w))
i f

pltylansl > 3 or pltylansl <= O:
print(r+"l'mafraid there's not such

an option. Please check the Iist and let's choose again!")
if pltylansl <=

3 and pltylansl > O:

br eak
el se:
br eak
except :
print (num
T 1.1.1. nth term
Q) R

if pltylansl == 1:
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
value of the first tern®?')
a=float (i nput(w'a = "))
br eak

except:
print (num
whil e True:
try:
print ( b+ What
is the difference between ternms?')
d=float (i nput(w'd = "))
br eak



except :

print (num
whil e True:
try:

print(b+ Finally, what is the nunber of termwe |ooking for?")
n=fl oat (i nput (w+' tn
="))

br eak
except :

print (num

tn =
Ir + str(a+((n-1)*d))
rule = Ir + str(f"tn ={a} + ((n - 1) * {d})")

print (b+"The nunber of the", n, "\bth termin this arithnetic sequence

is:", tn)
print(b+"The rule for this arithnetic sequence is:", rule)

print(b+"\nDo you have any nore questions?")

sol ve =
i nput (W)
R 1.1.2. first termand difference (a and d)------------
i f
pltylansl == 2:
whil e True:
print(b+"Geat! Let's start then!")
try:
print(b+ What is the value of the snaller term given?')
s=float (i nput(w's = "))
br eak
except:
print (num
whil e True:
try:
print(b+" And which nunber of termis this nunber?')
ts=float (i nput(wt'ts = "))
br eak
except:
print (num
whil e True:
try:

print(b+ What is the value of the
| areger termgiven?')

[ =float (i nput(w+' 1l = "))

br eak

except:

print (num

whil e True:
try:

print (b+" And
finally, which nunber of termis this [arger nunber?')

tl=float(input(w'tl =
"))

br eak
except :

print (num
if (tl-ts) ==

d =1r + '"Undefined'
a=1r + '"Undefined
rule =1Ir +
" Undef i ned'
el se:
d
a

(1-s)/(tl-ts)
Ir + str(s-((ts-1)*d))



d =1r + str(d)

rule = Ir + str(f'tn ={a} + (n - 1) * {d}")
print(b+"The first termfor this arithmetic sequence is:", a)
print(b+' The
di fference between terns in this arithnetic sequence is:', d)
print(b+ The rule for
this arithnetic sequence is:', rule)

print(b+"\nDo you have any nore
guesti ons?")
solve = input(w)
R 1.1.3 sumof the nth term

if pltylansl ==
whil e True:
try:

print(b+ What is the first termof the range in the sequence?')

a=float (i nput(w'a ="))
br eak
except :
print (num
whil e True:
try:

print(b+ What is the nunber of the last termof the
range in the sequence?')

n=fl oat (i nput (w+'n = "))

br eak

except :

print (num
whil e True:

try:
print(b+ Finally, what is the difference between the terns in the sequence?')

d=float (i nput(w'd = "))
br eak
except :

print (num

Sn = 1r + str((n/2)*(2*a+(n-1)*d))
rule = 1lr + str(f'"Sn = ({n} * ((2 * {a}) + (n -
1) = {d})) /I 2)

print(b+ The sumof this range in this arithmetic sequence is', Sn)

print(b+ The rule for this arithmetic sequence is: ', rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

if pltylans ==

print(b+"And what are we finding?")
for x in pl2:
print(lg

whi |l e True:

try:
pltylans2=i nt (i nput (w))
i f

+ X)

pltylans2 > 4 or pltylans2 <= O:
print(r+"l'mafraid there's not such

an option. Please check the Iist and let's choose again!")
if pltylans2 <=

4 and pltylans2 > O:



br eak

el se:
br eak
except:
print (num
LT 1.2.1. nth term
Q) R

if pltylans2 ==
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
first ternf')
a=float (i nput(w'a ="))
br eak
except:

print (num
whil e True:
try:
print(b+ What is the common
rati o between terns?')
rati o=float (input(w'r ="))
br eak

except:
print (num
whil e True:
try:

print(b+ Finally, what nunber of termare we |ooking for?')
n=fl oat (i nput (w+'tn =
"))

br eak
except :

print (num

pllans
=Ilr + str(a*pow(ratio,(n-1)))
rule = 1lr + str(f'tn = {a} * {ratio}”*(n-1)")

print (b+"The nunber of the", n, "\bth termin this geonetric sequence is:",
pllans)
print(b+"The rule for this geonetric sequence is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

Hommm - 1.2.2. first termand difference (a and r)-----------
if pltylans2 ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+ What is the value of the smaller termgiven? (smaller term')

s=float (i nput(w's = "))
br eak
except:

print (num

whi |l e True:

try:
print(b+ And which nunber of termis this nunber?')

ts=float (input(w+'ts = "))
br eak
except:

print (num
whil e True:



try:
print(b+ What is the second term
given? (larger term')
[ =float (i nput(w+' 1 = "))
br eak

except:
print (num
whil e True:
try:
print (b+" And
finally, which nunber of termis this second nunber?')
tl=float(input(w'tl =

"))
br eak
except :
print (num
if (tl-ts) ==
d =1Ir + "Undefined
a =1Ir + "Undefined
rule =1Ir +
" Undef i ned’
el se:
r=1r + str(pow(l/s, 1/(tl-ts)))
a=1Ir +

str(pow(s, 1/ts))
rule =1Ir + str(f'tn ={a} + {r} ~ (n-1)")

print(b+"The first termfor this geonetric sequence is:"

print(b+' The

the conmon ratio of this geonetric sequence is:', r)
print(b+ The rule for this
geonetric sequence is:', rule)

print(b+"\nDo you have any nore
guesti ons?")
solve = input(w)
R L 1.2.3. sumof the nth term

if pltylans2 ==
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
value of the first tern®?')
a=float (i nput(w'a = "))
br eak

except:
print (num
whil e True:
try:
print (b+" And
what is the common ratio of this geonetric sequence?')
rati o=float (i nput(w'r =

"))
br eak
except :
print (num
whil e True:
try:

print(b+ And finally, what is the nunber of the [ast

sequence?')
n=fl oat (i nput (w+'n = "))
br eak
except:

print (num

if (r-1) == 0:
Sn = Ir + 'Undefined

a)

nunber

of this



rule = Ir
+ ' Undefi ned'
el se:
Sn = 1r + str((a*(powmratio,n)-1))/(r-1))

rule =1r + str(f'({a} * (({r} ~n) - 1))/ ({ratio} - 1)")

print(b+"The sum of this geonetric sequence is:", Sn)
print(b+ The rule for
this geonetric sequence is:', rule)

print(b+"\nDo you have any nore
guesti ons?")
solve = input(w)
R LR 1.2.4. sumto
infinity(Si)------------------
if pltylans2 == 4:
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
value of the first tern®?')
a=float (i nput(w'a ="))
br eak

except:

print (num

whil e True:
try:

print (b+" And
what is the common ratio of this geonetric sequence?')

rati o=float (i nput(w'r =
"))

br eak
except :
print (num
if abs(r) >
1:
Sn = 1r + "Undefined. To calculate the sumto infinity, the absolute value of the
geornetric sequence can ONLY be LESS than 0!
rule = 1r + '"Undefined
elif
(1-r) ==
Sn = 1r + 'Undefined
rule = 1r + '"Undefined'
el se:
Sn = 1r + str(a/(1-ratio))
rule = 1Ir + str(f'Si ={a} / (1 -
{ratio})")
print(b+"The sumto infinity for this geonmetric sequence
is:", Sn)
print(b+ The rule for this geonetric sequence is:', rule)
print(b+"\nDo you have any nore questions?")
solve = input(w)
H===—==—=—==——=—==—===—=—==== 2, G n"p| e Calcul ati ons =============—===—======

if ans ==

print("\n\n")

print(lr + p2)

print(b+gadj.capitalize(), "\b! Let's
start from Sinple Cal culations then!")

print(b+ So which type of calculation are we
particularly | ooking at?")

for y in p2ty:

print(lg+y)



whi | e True:

try:
si npcal =i nt (i nput (w))
if sinmpcal > 8 or sinpcal <= 0O:

print(r+"l'mafraid there's not such an option. Please check the list and let's choose
again!")
if sinmpcal <= 8 and sinpcal > O:

br eak
el se:
br eak
except :
print (num
------------------------ 2. 1.
Additions---------------------o-n
if sinmpcal ==
sum= 0

print(b+"Geat! Let's start then!")
print(b+ Insert all the addends in the
qguestion. (Press Enter once to insert one value, press Enter three tinmes to end)', unit)

whil e True:
try:
x=f | oat (i nput (w))
sum += X
except:

ent key = get key(x)
if entkey == key. ENTER
sum=Ir + str(sum

br eak
el se:

print (num

print (Fore. BLUE+"Sum ", sum

print (Fore. BLUE+"\nDo you have any
nore questions?")
solve = input(w)

Subtractions-------------------------
if sinmpcal ==
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
m nuend?')
a=fl oat (i nput (w))
br eak
except:

print (num

whil e True:
try:
print(b+ What is the first
subt rahend?')
d=fl oat (i nput (wv#f' {a} - '))
br eak
except:

print (num
c=a-d
whil e True:

print(b + 'Is there any
nore subtrahend?')



add=i nput (w)
if "yes' in add or 'ye' in add or 'sure' in
add or 'yea' in add or 'yup' in add:
try:
print(b+"CQ her
subt rahend?")

x=float (i nput(w + f"{c} - "))
c -=x

except :
print(num

el se:

difference=lr + str(c)
br eak
print(Fore. BLUE+"Difference:", difference)

print (Fore. BLUE+"\nDo you have any nore questions?")
solve = input(w)

LR 2.3. Multiplications----------------------
if sinmpcal ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+ What is the first multiplier?)
a=fl oat (i nput (w))
br eak

except:
print (num
whil e True:
try:
print(b+ What is the
second multiplier?)
d=fl oat (i nput (wv#f' {a} * '))
br eak
except:

print (num
c=a*d

whil e True:
print(b + 'Is
there any nore multipliers?)
add=i nput (w)
if "yes' in add or 'ye' in add or
"sure' in add or 'yea' in add or 'yup' in add:
try:
print(b+"CQ her
mul tipliers?")
x=float (i nput(w + f"{c} * "))

cC *= X
except :

print (num
el se:

product=Ir + str(c)
br eak

print (Fore. BLUE+" Product: ", product)

print (Fore. BLUE+"\nDo you have any nore questions?")
solve = input(w)

if sinmpcal ==



whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+ What is the dividend?')
a=fl oat (i nput (w))
br eak

except:
print (num
whil e True:
try:
print(b+ What is the
first divisor?)
d=float (i nput (wv#f' {a} / '))
br eak
except:

print (num
c=al/d

whil e True:

print(b + 'Is there
any nore divisors?')

add=i nput (w)

if "yes' in add or 'ye' in add or 'sure' in
add or 'yea' in add or 'yup' in add:

try:
print(b+"CQ her

di vi sors?")
oat (input(w + f"{c} / "))
X

except:
print (num

el se:
quotient=lr + str(c)
br eak
print(Fore. BLUE+"Quotient:", quotient)

print (Fore. BLUE+"\nDo you have any nore questions?")
solve = input(w)

LR 2.5. Exponentials-------------------------
if sinmpcal ==
whil e True:
print(b+"Geat! Let's start then!")
try:
print(b+ What is the base?')
a=fl oat (i nput (w + 'Base = "))
br eak
except:
print (num
whil e True:
try:

print(b+ What is the

exponent of power?')
d=fl oat (i nput (w + ' Exponent of power = "))
br eak

except:
print (num

res=lr + str(powa,d))

print(Fore. BLUE+f"{a} ~ {d}:", res)



print (Fore. BLUE+"\ nDo you
have any nore questions?")
solve = input(w)

Logarithme----------------------
if sinmpcal ==
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
base?')
a=fl oat (i nput (w + 'Base = "))
br eak
except:

print (num
whil e True:
try:
print(b+ And...")

d=float(input(w + f'log {a} to "))
br eak
except :

print (num

if abs(a) != a or abs(d) != d:
res = Ir + 'Undefined'
elif a == 10:

res=lr + str(math.logl0(d))
el se:
res=lr + str(math.log(d, a))

print(Fore. BLUE+f"log {a} to {d}:", res)

print (Fore. BLUE+"\ nDo
you have any nore questions?")
solve = input(w)

Square RoOt------------mmmmmmea oo
if sinmpcal ==
whil e True:

print(b+"Geat! Let's start then!")
try:
print (b+"What
nunber's square root are we | ooking for?")
a=fl oat (i nput (w + ' Square root of
"))

br eak
except :

print (num

res = 1lr +
str(math.sqgrt(a))

print (Fore. BLUE+f "Square root of {a} is:", res)

print (Fore. BLUE+"\nDo you have any nore questions?")

sol ve =
i nput (W)
LR 2.8. Cube RoOt------------mmommmae oo
i f sinpcal
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+"What is the root nunber?")
a=fl oat (i nput (w))



br eak
except:
print (num
whil e True:
print(b+"G eat!
Let's start then!")
try:
print (b+f"Wat nunber is in {a}

root ?")
d=f I oat (i nput (w+#f"{a} root of "))
br eak

except:
print (num

res = 1lr + str(powa, 1/d))

print(Fore. BLUE+f"{a} root of {d} is:", res)

print (Fore. BLUE+"\nDo you have any nore questions?")
solve = input(w)

if ans ==
com
= b + "(Please insert the imginary as

j', without spaces!)"

print("\n\n")

print(lr + p3)

print(b+gadj.capitalize(), "\b! Let's
start from conpl ex nunbers then!")

print(b+ So which type of conplex nunber
calculation are we particularly |ooking at?")

for y in p3ty:

print(lg+y)

whil e True:
try:
conpcal =i nt (i nput (w))
if conpcal > 4 or conpca
<= 0:
print(r+"l'mafraid there's not such an option. Please check the Iist
and let's choose again!")
if compcal <= 4 and conpcal > O:

br eak
el se:
br eak
except :

print (num

if compcal ==

whil e True:
print(b+"Geat! Let's start then!")

try:

print(b+"What is the first conplex nunber that needs to be added?", com

a=conpl ex(i nput (w))
br eak
except:
print (commum
whi | e
True:
try:
print(b+"What is the second conplex nunber that needs to be
added?", com
d=conpl ex(i nput (w+f' {a} + "))



br eak
except :

print (commum
c=d+a

whil e True:
print(b +
"I's there any nore addends?')
add=i nput (w)
if "yes' in add or 'ye' in add or
"sure' in add or 'yea' in add or 'yup' in add:
try:
print(b+"CQ her
addends?", com
x=conpl ex(i nput (w + f"{c} + "))
c +=

except:
print (comum
el se:
sumelr + str(c)
br eak

print (Fore. BLUE+"Sum ", sum

print (Fore. BLUE+"\nDo you have any nore questions?")
solve = input(w)

LR 3.2. Subtractions-------------------------
i f conpcal ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+ What is the mnuend?', com

a=conpl ex(i nput (w))
br eak

except:
print (commum
whil e True:
try:
print(b+ What is
the first subtrahend?', com
d=conpl ex(i nput (w+f' {a} - "))

br eak
except:
print (commum
c=a-d
whil e True:

print(b + 'Is there any nore subtrahend?')
add=i nput (w)
if "yes' in add or
' in add or 'sure' in add or 'yea' in add or 'yup' in add:
try:

ye

print (b+"Q her subtrahend?", com
x=conpl ex(i nput (w + f"{c} -
II))

C -=X
except:
print (comum
el se:

difference=lr + str(c)
br eak



print(Fore. BLUE+"Difference:", difference)

print (Fore. BLUE+"\ nDo
you have any nore questions?")
solve = input(w)

Multiplications----------------------
i f conpcal == 3:
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
first multiplier? , com
a=conpl ex(i nput (w))
br eak
except:

print (comum
whil e True:
try:
print(b+ What is the second
mul tiplier? , com
d=conpl ex(i nput (w+f' {a} * "))
br eak
except:

print (commum
c=a*d

whil e True:
print(b + 'Is
there any nore multipliers?)
add=i nput (w)
if "yes' in add or 'ye' in add or
"sure' in add or 'yea' in add or 'yup' in add:
try:
print(b+"CQ her
mul tipliers?", com
x=conpl ex(i nput (w + f"{c} * "))

c
*:X

except:

print (commum
el se:

product=Ir +
str(c)

br eak

print (Fore. BLUE+" Product: ", product)

print (Fore. BLUE+"\nDo you have any nore questions?")
solve = input(w)

e 2.4, DIViSiON--------mmm e
if compcal ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+ What is the dividend? , com

a=conpl ex(i nput (w))
br eak

except:
print (comum
whil e True:
try:
print (b+ What is
the first divisor?' , com



d=conpl ex(i nput (w+f'{a} / "))

br eak
except:
print (comum
c=al/d
whil e True:

print(b + 'Is there any nore divisors?')
add=i nput (w)
if "yes' in add or 'ye'
in add or 'sure' in add or 'yea' in add or 'yup' in add:
try:

print(b+"Qher divisors?", con
x=conpl ex(i nput (w + f"{c} /
II))

c/=x
except :
print (comum
el se:

quotient=lr + str(c)
br eak
print (Fore. BLUE+" Quotient:", quotient)
print (Fore. BLUE+"\ nDo you

have any nore questions?")
solve = input(w)

if ans == 4:
print("\n\n")

print(lr + p4)
print(b+gadj.capitalize(), "\b! Let's start from Sinple Cal cul ations

then!")
print(b+ So which part of geometry are we particularly |ooking at?')
for
y in p4ty:
print(lg+y)
whil e True:
try:

p4tylans=int (i nput (w))
if pdatylans > 4 or pdtylans <= 0O:

print(r+"l'mafraid there's not such an option. Please check the list and let's choose
again!")
if pdtylans <= 4 and p4dtylans > O:

br eak
el se:
br eak
except :
print (num
e R 4.1
Areas-----------------------------

if pdtylans == 1:
print (b+"And what
are we finding?")
for x in p4l:
print (1 g+x)
whil e True:

try:



p4tylansl=i nt (i nput(w))
if pd4tylansl > 4 or p4dtylansl <= O:

print(r+"l'mafraid there's not such an option. Please check the list and let's
choose again!")
if pd4tylansl <= 4 and p4tylansl > O:

br eak
el se:
br eak
except:
print (num
LR 4.1.1. Crcles-----------mmmmmmia e
if pdtylansl ==
whil e True:
print(b+"Geat! Let's start then!")
try:
print(b+ What is the radius of the circle? (If the dianmeter is given then divide it by
2)")
radi us=float (i nput(w'r = "))
br eak
except:
print (num
area = Ir + str(math. pi *radi us**2)
rule = 1Ir +

str(f"A = ({radius}”2) * \u03CQ0")
print(b+"The area of this circle
is:", area, "unit~2")
print (b+"The equation for finding this
circle's area is:", rule)
print(b+"\nDo you have any nore
guesti ons?")
solve = input(w)

Quadrilateral s--------------------
if pdtylansl == 2:
whil e True:

print(b+"Geat! Let's start then!")
try:
print (b+"What
is the base given?", unit)
base=fl oat (i nput (w+'b = "))
br eak

except:
print (num
whil e True:
try:

print(b+ And what is the height given? , unit)
hei ght =f [ oat (i nput (w+' h = "))

br eak
except :

print (num

area = Ir +

str(base*hei ght)
rule = 1lr + str(f'A = {base} * {height}"')
print(b+"The

area of this quadrilateral is:", area, "unit”2")
print(b+"The
equation for finding this quadrilateral's area is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)



if pdtylansl ==

whil e True:
print(b+"Geat! Let's start then!")

try:

print(b+"What is the |Iength of one side of the squre?", unit)

side=float (i nput(w's = "))

br eak

except:
print (num
area = Ir + str(side**2)
rule = 1lr + str(f'A = {side}"2")

print(b+"The area of this squre is:", area, "unit”2")
print(b+"The equation for finding this quadrilateral's area is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

LR 4.1.4. Triangles------------mmommomon--
if pdtylansl ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+"What is the base given?", unit)
base=f 1l oat (i nput (w+' b =

"))
br eak
except :
print (num
whil e True:
try:

print(b+ And what is the height given? , unit)

hei ght =f [ oat (i nput (w+' h = "))

br eak
except:
print (num
area = Ir + str(base*height/?2)
rule = 1lr + str(f'A = {base} * {height} / 2')
print(b+"The area of this triangle is:", area, "unit”2")
print(b+"The equation for finding this quadrilateral's area is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

if pdtylans ==

print(b+"And what are we finding?")
for x in p42:

print (1 g+x)
whil e True:
try:
p4tylansl=i nt (i nput(w))
i f

p4tylansl > 7 or p4tylansl <= O:
print(r+"l'mafraid there's not such



an option. Please check the Iist and let's choose again!")
if pdtylansl <=
7 and p4tylansl > O:

br eak
el se:
br eak
except :
print (num
---------------------- 4.2.1
Spheres-----------mommmm oo
if pdtylansl ==
whil e True:

print(b+"Geat! Let's start then!")

try:
print(b+ What is the

radi us of the sphere? (If the dianmeter is given then divide it by 2)', unit)

radi us=float (i nput(w'r = "))
br eak
except:

print (num

volunme = Ir + str((4/3)*math. pi *radi us**3)
rule = 1Ir + str(f"Vv

= (4/3) * ({radius}”3) * \u03C0")
print (b+"The volume of this sphere

is:", volune, "unit”3")
print (b+"The equation for finding this
sphere's volunme is:", rule)

print(b+"\nDo you have any nore
guesti ons?")
solve = input(w)
LT 4.2.2. Quadri

if pdtylansl ==
whil e True:

print(b+"Geat! Let's start then!")
try:
print (b+"What
is the length given?", unit)
[ engt h=f [ oat (i nput (wv+'l = "))

br eak
except :
print (num
whil e True:
try:

print(b+ And what is the width given? , unit)
wi dt h=f | oat (i nput (w+'w = "))

br eak
except :
print (num
whil e True:
try:

print(b+ And what is the height given? , unit)
hei ght =f | oat (i nput (w+' h

"))
br eak
except :

print (num
volume = |r +
str (1l engt h*w dt h*hei ght)
rule = 1lr + str(f'V = {length} * {width} * {height}')

print(b+"The volume of this quadrilateral prismis:", volume, "unit”3")

print(b+"The equation for finding this rectangular prisms volunme is:",

rul e)



print(b+"\nDo you have any nore questions?")

sol ve =
i nput (W)
R L I 4.2.3. CubesS---------- e
i f
p4tylansl == 3:
while True:

print(b+"Geat! Let's start then!")

try:
print(b+"What is the |Iength of one side of the cube
given?", unit)

I engt h=f [ oat (i nput (w+'l = "))
br eak
except:
print (num
volune = Ir + str(length**3)
rule =
Ir + str(f'V = {length}"3")
print(b+"The volume of this cube is:", volune,
"uni t”3")

print(b+"The equation for finding this cube's vol une
is:", rule)

print(b+"\nDo you have any nore questions?")

solve = input(w)
#

if pdtylansl ==
whil e True:
print(b+"Geat! Let's start
then!")
try:
print(b+"What is the base length given?",
unit)
I engt h=f [ oat (i nput (w+'l = "))
br eak
except:

print (num
whil e True:
try:
print(b+ And what is the base
width given?' , unit)
wi dt h=f | oat (i nput (w+' w = "))
br eak

except:
print (num
whil e True:
try:
print (b+" And
what is the height given? , unit)
hei ght =f [ oat (i nput (w+' h = "))

br eak
except :
print (num
volume = I|r +

str (1l engt h*w dt h*hei ght/ 3)
rule = 1lr + str(f'V = ({length} * {width} * {height}) /
3')
print(b+"The volume of this pyramid is:", volume, "unit”3")

print(b+"The equation for finding this pyramid s volume is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)



R 4.2.5. Triangular Pyramds------------------
if pdtylansl == b5:

whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+"What is the |length of the base's base given?", unit)

base=f1 oat (i nput (w+' bb = "))
br eak
except:

print (num

whil e True:
try:
print(b+"And what is the base's hei ght
given?", unit)
basehei ght =f | oat (i nput (w+' bh = "))
br eak

except:
print (num
whil e True:
try:

print(b+ And what is the height of this triangular based pyramd given? , unit)

hei ght =f [ oat (i nput (w+' h = "))
br eak
except:

print (num

volunme = Ir + str(((base*basehei ght)/2*height)/3)
rule = 1lr + str(f'V =

(({base} * {baseheight}) / 2 * {height}) / 3")
print(b+"The volume of this

triangul ar based pyramd is:", volune, "unit”3")
print(b+"The
equation for finding this triangle based pyramid' s volune is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

LR 4.2.6. Cylinders------------mm-mono---
if pdtylansl ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+"What is the radius of the circle base of the cylinder? (If the dianeter is
given then divide it by 2)", unit)
radi us=float (i nput(w'r = "))

br eak
except :
print (num
whil e True:
try:

print(b+ And what is the height of the cylinder given? , unit)

hei ght =f [ oat (i nput (w+' h = "))
br eak
except:

print (num

volunme = Ir + str(math. pi *hei ght *radi us**2)
rule = 1lr + str(f'V = ({radius}"2)
* \u03C0 * {height}")



print(b+"The volume of this cylinder is:", volune,
"uni t”3")

print(b+"The equation for finding this cylinder's volunme
is:", rule)

print(b+"\nDo you have any nore questions?")

solve = input(w)
#

if pdtylansl ==
whil e True:
print(b+"Geat! Let's start
then!")
try:
print(b+"What is the radius of the circle base
of this cone? (If the dianmeter is given then divide it by 2)", unit)

radi us=float (i nput(w'r = "))
br eak
except:

print (num

whil e True:
try:
print(b+ And what is the height of this cone
given?', unit)
hei ght =f [ oat (i nput (w+' h = "))
br eak

except:
print (num

volunme = Ir + str((math. pi*hei ght*radi us**2)/3)

rule = 1lr + str(f'V = (\u03C * {height} * {radius}"2) / 3')
print(b+"The

vol urme of this cone is:", volume, "unit"3")
print(b+"The equation
for finding this cone's volunme is:", rule)

print(b+"\nDo you have
any nore questions?")
solve = input(w)

if pdtylans == 3:
print (b+"And what
are we finding?")
for x in p43:
print (1 g+x)
whil e True:

try:
p4tylansl=i nt (i nput(w))
if pd4tylansl > 2 or p4dtylansl <= O:

print(r+"l'mafraid there's not such an option. Please check the list and let's
choose again!")
if pdtylansl <= 2 and p4tylansl > O:

br eak
el se:
br eak
except:
print (num
LR 4.3.1. Crcles---------mmmmmmmmi e
if pdtylansl ==
whil e True:

print(b+"Geat! Let's start then!")
try:



print(b+ What is the radius of the circle? (If the dianeter

2)', unit)
radi us=float (i nput(w'r = "))
br eak
except:
print (num
ccf =1lr + str(2*radi us*math. pi)
rule = Ir

+ str(f"V =2 * {radius} * \u03C0")
print(b+"The circunference of this

circle is:", ccf, "unit")
print(b+"The equation for finding this
circle's circunference is:", rule)

print(b+"\nDo you have any nore
guesti ons?")
solve = input(w)

Pol ygon----------cooommmma oo
if pdtylansl ==
perineter =0

print(b+ Insert lengths of all the sides of this polygon

val ue, press Enter three tinmes to end)', unit)
whil e True:

try:

x=f | oat (i nput (w))
perinmeter += X
except:
entkey =
get key(x)
if entkey == key. ENTER
perinmeter = Ir + str(perinmeter)

br eak
el se:
print (num
print(b+"The

perineter of this polygon is:", perineter, "unit")

print(b+"\nDo you have any nore questions?")
solve = input(w)

if pdtylans ==

print(b+"And what are we finding?")
for x in p44:

print (1 g+x)
whil e True:
try:
p4tylansl=i nt (i nput(w))
i f

p4tylansl > 7 or p4tylansl <= O:

print(r+"l'mafraid there's not such
an option. Please check the Iist and let's choose again!")

if pdtylansl <=
7 and p4tylansl > O:
br eak
el se:
br eak

except:
print (num

Spheres-------ccmmemmnncnnaaana.

is given then divide it

(Press Enter once to insert one

by



if pdtylansl ==
whil e True:

print(b+"Geat! Let's start then!")
try:
print(b+ What is the
radi us of the sphere? (If the dianmeter is given then divide it by 2)', unit)

radi us=float (i nput(w'r = "))
br eak
except:
print (num
sa = |lr + str(4*math. pi *radi us**2)

rule = 1lr + str(f"SA =4 *
({radius}”~2) * \u03C0")

print(b+"The surface area of this sphere is:",
sa, "unit”2")

print(b+"The equation for finding this sphere's surface
area is:", rule)

print(b+"\nDo you have any nore questions?")

solve = input(w)
LT 4.4.2. Quadril Prismg--------------------

if pdtylansl == 2:
whil e True:
print(b+"Geat! Let's start
then!")
try:
print(b+"What is the |length given?",
unit)
I engt h=f [ oat (i nput (w+'l = "))
br eak
except:

print (num
whil e True:
try:
print(b+ And what is the width
given?', unit)
wi dt h=f | oat (i nput (w+'w = "))
br eak

except:
print (num
whil e True:
try:
print (b+" And
what is the height given? , unit)
hei ght =f [ oat (i nput (w+' h = "))

br eak
except :

print (num

sa =Ir +

str(2*(1 engt h*wi dt h+l engt h* hei ght +wi dt h* hei ght))
rule = 1lr + str(f'SA =2 * ({length}

* {width} + {length} * {height} + {width} * {height })")
print (b+"The surface

area of this quadrilateral prismis:", sa, "unit”"2")
print(b+"The
equation for finding this rectangular prisms surface area is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

if pdtylansl ==

whil e True:
print(b+"Geat! Let's start then!")

try:



print(b+"What is the |length of one side of the cube given?", unit)

[ engt h=f [ oat (i nput (wv+'l = "))
br eak
except:
print (num
sa = |lr + str(6*l ength**2)
rule = 1lr + str(f'"SA =6 * {length}"2")
print(b+"The surface area of this cube is:", sa, "unit"2")
print(b+"The equation for finding this cube's surface area is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

LR 4.4.4. PyramdsS------------------------
if pdtylansl ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+"What is the base |length given?", unit)

I engt h=f [ oat (i nput (w+'l = "))
br eak
except:

print (num

whi |l e True:

try:
print(b+ And what is the base width given?

unit)
wi dt h=f | oat (i nput (w+'w = "))
br eak
except:

print (num
whil e True:
try:
print(b+ And what is the height
given?', unit)
hei ght =f [ oat (i nput (w+' h = "))
br eak

except:
print (num

sa =Ilr + str(length*width +

| engt h*mat h. sqrt (powm wi dth/2,2) + height**2) + width*math.sqrt(pow(length/2, 2) + height**2))

rule = 1lr + str(f'SA = {length} * {width} + {length} * (({width}/2)*2 + {height}"2) *

(1/2) + {width} * (({length}/2)"2 + {height}~2) ~ (1/2)")
print (b+"The surface

area of this pyramid is:", sa, "unit”2")
print (b+"The equation for
finding this pyramid' s surface area is:", rule)

print(b+"\'nDo you
have any nore questions?")
solve = input(w)

Qylinders------------mmommmmon--
if pdtylansl ==
whil e True:

print(b+"Geat! Let's start then!")

try:
print (b+"What

is the radius of the circle base of the cylinder? (If the dianmeter is given then divide it

by



2)", unit)
radi us=float (i nput(w'r = "))
br eak

except:
print (num
whil e True:
try:
print (b+" And
what is the height of the cylinder given? , unit)
hei ght =f [ oat (i nput (w+' h = "))

br eak
except :

print (num

sa =Ir +

str(2*mat h. pi *radi us*hei ght + 2*mat h. pi *radi us**2)
rule = 1lr + str(f'"SA = (2 * \u03Q0

* {radius} * {height}) + (2 * \u03C0 * {radius}”2)")
print(b+"The surface area of

this cylinder is:", sa, "unit”2")
print (b+"The equation for
finding this cylinder's surface area is:", rule)

print(b+"\'nDo you
have any nore questions?")
solve = input(w)

L 4.4.7. CONES--------------“"-“---------
if pdtylansl ==
whil e True:
print(b+"Geat! Let's start then!")
try:

print(b+"What is the radius of the circle base of this cone? (If the dianeter is
given then divide it by 2)", unit)
radi us=float (i nput(w'r = "))

br eak
except :

print (num
whil e True:
try:
print(b+ And what is the height of this cone given?' , unit)
hei ght =f [ oat (i nput (w+' h = "))

br eak
except :

print (num
sa = |Ir + str(math. pi *radi us*(radi us+nat h. sqgrt ( pow( hei ght, 2) +pow( r adi us, 2))))
rule =1r + str(f'V =\u03Q * {radius} * {radius} + (({height}~2) + ({radius}”~2)) ~ (1/2)")
print(b+"The surface area of this cone is:", sa, "unit”3")
print(b+"The equation for finding this cone's surface area is:", rule)

print(b+"\nDo you have any nore questions?")
solve = input(w)

if ans ==

print("\n\n")
print(lr + pb5)
print(b+gadj.capitalize(), "\b! Let's
start from Trigononetry then!")



print(b+ So which part of trigononmetry are we
particularly | ooking at?")

for y in pbty:

print(lg+y)
whi | e True:

try:
p5tylans=i nt (i nput (w))
if pbtylans > 6 or pbtylans <= O:

print(r+"l'mafraid there's not such an option. Please check the list and let's choose
again!")
if pbtylans <= 6 and p5tylans > O:

br eak
el se:
br eak
except:
print (num
e 5.1
Angles--------m o
if pbStylans ==
print (b+"And
what are we finding?")
for x in p51:
print (1 g+x)
whil e True:
try:

p5tylans=i nt (i nput (w))
if pbtylans > 3 or pbtylans <= O:

print(r+"l'mafraid there's not such an option. Please check the list and let's
choose again!")
if pbtylans <= 3 and p5tylans > O:

br eak
el se:
br eak
except :

print (num

print(b+"And are we finding the answer in degrees or radians?")
for x in
p5dr:
print (1 g+x)
whil e True:
try:
dr =i nt (i nput (w))

if dr > 2 or dr <= 0:
print(r+"l'mafraid there's not such an
option. Please check the list and let's choose again!")
if dr <= 2 and dr
> 0:
br eak
el se:
br eak
except:

print (num

if pbtylans == 1:
X, XS,Y,ys='"opposite','O,"'hypotenuse','H

if pbStylans ==
X, Xs,Yy,ys="adjacent',' A,"' hypotenuse','H
if pbStylans ==

X, XS,Y,ys='"opposite','0,"adjacent’',"'A
whil e True:



print(b+"G eat!
Let's start then!")
try:
print(b+f'Wiat is the length of the side {x}
given to the angle we are finding? , unit)
x=f 1 oat (i nput (w+f' {xs} = "))

br eak
except :
print (num
whil e True:

try:
print(b+f'And what is the length of the {y} side given? , unit)

y=f1 oat (i nput (w+f' {ys} = "))
if x >vy:
if pStylans ==

br eak
el se:
print(r + "This triangle is inpossiblel (note
the hypotenuse is always the |ongest side of a right traingle) Try again.")

el se:
br eak
except :

print (num
if pbtylans == 1:

rule = 1r + str(f"\u03B8 = arcsin({x} / {y})")

theta = Ir +
str(mat h. degrees(math. asin(x/y))) if dr == 2 else Ir + str(math.asin(x/y))
if pbtylans
rule = 1r + str(f"\u0O3B8 = arccos({x} / {y})")
theta = Ir +
str(mat h. degrees(mat h. acos(x/y))) if dr == 2 else Ir + str(math.acos(x/y))
if pbtylans
rule = lr + str(f"\u03B8 = arctan({x} / {y})")
theta = Ir +
str(mat h. degrees(math. atan(x/y))) if dr == 2 else Ir + str(math. atan(x/y))
if pbdr ==

1
print(b+"\u03B8:", theta, "\b\uO0BO")
el se:

print(b+"\u03B8:", theta)

print(b+"The equation for finding this angle of
this triangle is:", rule)

print(b+"\nDo you have any nore questions?")

solve = input(w)

if pbtylans == 2:
print (b+"And what
are we finding?")
for x in p52:
print (1 g+x)
whil e True:

try:
p5tylans=i nt (i nput (w))
if pbtylans > 3 or pbtylans <= O:

print(r+"l'mafraid there's not such an option. Please check the list and let's
choose again!")
if pbtylans <= 3 and p5tylans > O:

br eak



el se:

br eak
except:
print (num
i f
p5tylans ==
X, Xs,Yy,ys="adjacent',' A,"' hypotenuse','H
if pbStylans ==

X, XS,Y,ys='"opposite',"A,"' hypotenuse','H
if pbtylans == 3:

X, XS,Y,ys="opposite','0,"adjacent’',"'A
print(b+ Geat! So which side is given?')

print(lg+f"1_ {X}II + Il\nll + fll2. {y}ll)
whi | e True:

try:
si de=i nt (i nput (w))
if side > 2 or side <= 0:

print(r+"l'mafraid there's not such an option. Please check the list and let's choose
again!")
if side <= 2 and side > O:
br eak

el se:
br eak
except :

print (num

known=xs i f

side == 1 el se ys
knowmnf=x if side == 1 else y
unknown=ys if side == 1 el se xs

unknownf=y if side == 1 else x
whil e True:
print(b+"Geat! Let's start
then!")
try:
print(b+f'Wat is the length of the {knownf}?', unit)

knownnun¥f | oat (i nput (w+f ' {known} = "))
br eak
except:

print (num
whil e True:
try:
print(b+ And angle given? (please give
your answer in degrees', unit)
t het a=f | oat (i nput (w+' \u03B8 = "))
br eak

except:
print(num'3) Please give your answer in DEGREES')

theta =
mat h. r adi ans(t het a)
if pbStylans ==

answer = |r +
str(knownnuntmath.tan(theta)) if side == 1 else Ir + str(knownnuntmath. sin(theta))
i f
p5tylans ==
answer = Ir + str(knownnum math.tan(theta)) if side == 1 else Ir +
st r (knownnunt mat h. cos(t heta))
if pbtylans == 3:
answer = |r +
str(knownnunm mat h. sin(theta)) if side == 1 else Ir + str(knownnunf math. cos(theta))



t hetaword = str(math. degrees(theta)) + '\uO0BO'
if pbtylans == 1:

+

rule = 1Ir +

str(f"{unknown} = {knownnun} * tan({thetaword})") if side == 1 else Ir
str(f"{unknown} = {knownnun} * sin({thetaword})")

if pbtylans == 2:
rule = Ir + str(f"{unknown} = {knownnun} / tan({thetaword})") if side ==
str(f"{unknown} = {knownnun} * cos({thetaword})")

if pbtylans == 3:
rule = Ir + str(f"{unknown} = {knownnun} / sin({thetaword})") if side ==

str(f"{unknown} = {knownnum} * cos({thetaword})")

print(b+f"The | ength

of {unknownf} is:", answer, 'unit')
print(b+"The equation for finding the
length of this side is:", rule)

print(b+"\nDo you have any nore
guestions?")
solve = input(w)

H#o==——=——————————————————=== (G, Pyt hagor as

if ans == 6:
print("\n\n")
print(lr + p6)

print(b+gadj.capitalize(), "\b! Let's start from Pythagoras then!")

print(b+ So which side of the right triangle are we finding?)
for y in p6ty:

print(lg+y)
whil e True:
try:
p6t ylans=i nt (i nput (w))
if p6tylans

> 2 or p6tylans <= O:
print(r+"l'mafraid there's not such an option
Pl ease check the list and let's choose again!")
if p6tylans <= 2 and
p6tylans > O:
br eak
el se:
br eak
except:

print (num

if p6tylans == 1:
whil e True:
print(b+"Geat! Let's start
then!")
try:
print(b+ What is the length of the first known side
given?', unit)
asi de=float (i nput(w'a = "))
br eak
except:

print (num

whil e True:
try:
print(b+ And what is the |length of
the second known side given? , unit)
bsi de=f | oat (i nput (w+' b="))
br eak

1 elselr

1 elselr

+

+



except :

print (num
c=lr + str(math.sqgrt((asi de**2)+(bside**2)))

rule=lr + f'(({aside}"2) + ({bside}*2))"(1/2) = {c}'
print(b+ The | ength of the

hypotenuse is:', ¢, 'unit')
print(b+ The equation for finding the hypothenuse is:',

rul e)
print(b+"\nDo you have any nore questions?")
solve = input(w)
LT 6.2. Find Non-hypotenuse---------------------
i f
p6tylans == 2:
whil e True:
print(b+"Geat! Let's start then!")
try:
print(b+ What is the length of the known non-hypotenuse side given? , unit)
bsi de=fl oat (i nput (w+' b = "))
br eak
except:
print (num
whil e True:
try:

print(b+ And what is the |length of the
second known side given?' , unit)

csi de=fl oat (i nput (w+' c="))

br eak

except :

print (num
a=lr + str(math.sqrt((cside**2)-(bside**2)))

rule=lr + f' (({cside}"2) - ({bside}"2))"(1/2) = {a}'
print(b+ The | ength of the unknown
side is:', a, '"unit")
print (b+ The equation for finding this unknown side is:',
rul e)

print(b+"\nDo you have any nore questions?")
solve = input(w)
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